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. (A) (1) What .is Portfolio Management -? Describe in detail the portfolio
management process. o 7
(2) Describe the role of SEBI as regards investor’s protection in financial
' markets. : ‘ 7
OR
(1) What are derivatives ? Explain the different types of derivatives and their g‘)
major characteristics. 7 E
{2} Describe the major functions of a stock exchange. 7 %’5
—t
(B) Attempt any four: N 4 é—
(1)  Explain the difference between investment and gambling. o
. o
(2) Distinguish between primary market and secondary market. =
(3) State the objectives and constraints of a rational investor.
(4) Distinguish between forwards and futures.
2. {(A) (1) Whatis EMH ? Describe bricfly various forms of EMH and their impact on
" investment decisions of the investors. . 7
(2) Explain in detail Sharpe's model to portfolio construction. 7
OR |
(1) Whatis tecfmical analysis ? How does it differ from fundamenta] analysis 7 .
Explain major chart patterns used in technical analysis. : 7
(2) What is.an Ec?nom'ic Indicator ? Des_cri'be the major economié'indicamm
along with their major characteristics in relation to the stages of business
cycle. 7
ND-115 5 P.T.0.
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{B)- Explain briefly : (any four) ' 4

3. (A)
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(1)
()
3)
(4)
(5)
(6)

Attempt any two :

(1)

(2)

(3)

QOscillators

Relative strength index

Head and shoulders

Support and Resistance

Candle stock chart

Point and figure chart

»

14

From the data given below, obtain the expected retumns, standard deviation

of returms and correlation coefficient between the retumns of Stock-A and

Stock-B :
i1 Ry Rg P
1 | 0.04 | =020 | 0.l
21009 | 013 | 0.65 |
31012 033 | 025

The retums on Securities A and B are given below :

Probability | Sccurity-A | Security-B
0.5 4 0
0.4 2 3
0.1 0 3 |

Give the security of your preference based upon risk and return associated

with these securities.

Suppose the risk-free rate is §%. The expected return on the market is 16%.
If a particular stock has a beta of 0.7, what is its expected return based on
the CAPM ? If another stock has an expected return of 24%, what must its
beta be ? ‘
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An equally weighted portfolio will consist of shares from AB company

and YZ company stock. The expected returns and standard deviations

associated with AB company stock are 5% and 12% respectively and those

for YZ company stock are 10% and 20% respectively. Find the expected

return and standard deviation of returns of this portfolio if returns on the

two stocks are : (i) perfectly positively carrelateci. (ii) perfectly inversely
correlated and (iii) independent.

(2)  Performance measures compute Sharpe ratios, Treynor ratios and Jensen’s

alphas for portfolios A, B and C based on the following returns data, where

Portfolio Rp o, |3p
A 10% | 30% | 0.75
B 15% | 25% | 1.00
C 20% | 40% | 1.50
M 15% | 15% | 1.00
F 5% | 0% | 0.00

M and F stand for the market portfolio and risk-free rate, respectively :

identifying undervalucd and overvalued securities.

(2) Explain in detail the APT model for asset pricing.
OR

(1)  What are mutual funds ? Explain different types of mutual funds.

(2) Write a note on Black Scholes valuation model.

Multiple Choice Questions : (any three)

(1) Beta for a market portfolio is always

(a) -l
() +1

(a) Unique risk

(¢) Non-diversifiable risk

(2) Unsystematic risk is also called

7

(b) O

(d) Greater than one

(b) Market risk
(dy Expected risk
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Explain in detail capital asset pricing model and also how does it help in
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(3} According to the CAPM, what is the rate of retum of a portfolio with a beta

)

of 1 7?
(a)  Between RM and Rf (b) The risk free rate. Rf
(¢) Betax(RM-R/) (d) The retumn on the market. RM

Supposc a stock breaks through a support level. According to technical
analysis, you should

(a) buy the stock
(b) sell the stock
(c) " do nothing since this isla congestion area

(d) buy the stock on margin
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